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read "C:/Users/rmn74/Documents/M7.txt"

Help7( )

GR(p,i,N), GRt(p,i,N), GRm(N,p), OneStepMarkov(P,i), MarkovTrip(P,K), StSa(P,K) , StS(P), 1)
StSp(P,K), RandSM(N)

#1 pr is the number of games won and pr\k give prob of exiting a winner, t\k is the avg time for a game
to end

EstGR = proc(p, i, N, k) localpr, t,x, L, a :

pr:=20:

t:==0:

L:+[1]:

for a from 1 to k do

x:= GRt(p,i,N) :

ifx[1]=1thenpr:=pr+1:fi

t=t+x[2]:

od:

L= [ﬂ, )é}

k
RETURN (L
end:

#3
ExactFairGR :=proc(i, N) localx, En :

En=i(N—i):
RETURN (x, En) :
end:

ESTp = [ ]:

ESTt = [ ]:

EXACTp =1 1]:

EXACTt =1 ]:

for a from 1 to 19 do

L= EstGR(%, a, 20, 3000) :
M = ExactFairGR(a, 20) :
ESTpla] == L[1]:
ESTt:=L[2]:

EXACTp := M[1]:

EXACTt == M[2]:

od:

Error, out of bound assignment to a list




